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PRACTICE Drawing Angles in Radians and Exact Values

For each of the following
a. Draw the angle given in standard position
b. Find the related acute angle
c. Draw and label the special triangle
d. Use the triangle to state the trig ratios (primary on the left column, secondary on the right column)
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PRACTICE Solving for the Angles

For each of the following
a. Draw the terminal arms in the correct quadrants
b. Find all answers for the angle in radians within first positive revolution (exact angles if possible)

NE 2

11, sin@ =—— 12. cosf@=——
2 2
13. tan@ =-1 3
14. tan@ =—
3
15. sinﬁzé 16. Cos@:_ﬁ
17. cos@=0 18. sin@ =-1

19. tan@ =0 20. cos@ =-1
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PRACTICE More Exact Values

For each of the following state primary ratios for 1** column, and secondary ratios for 2™ column
21. Point P(—1,—3)on terminal arm in standard position ~ 22. Point Q(—4,0)on terminal arm in standard position

3 24. csc@=7
23. secf = —5

PRACTICE Approximate Values

For each of the following
a.  Identify if x is the angle, or if X is the ratio (pay attention to the position it is in)
b. if the angle is given, find the approximate ratio using a calculator (can’t use special triangles on non-special angles)
if the ratio is given, find all possible approximate angles within first positive revolution.

3z 26. tanx =—0.8
25. tan? =X

T
28. x =sec—

27. sinx =

29. x=cot4.76 30. —0.569 =cos x
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PRACTICE Drawing Angles in Radians and Exact Values

For each of the following
a. Draw the angle given in standard position
b. Find the related acute angle
c. Draw and label the special triangle
d. Use the triangle to state the trig ratios (primary on the left column, secondary on the right column)
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PRACTICE Solving for the Angles

For each of the following
a. Draw the terminal arms in the correct quadrants
b. Find all answers for the angle in radians within first positive revolution (exact angles if possible)

11. sinHz—g %\g,\tﬂfo’% m\ab/ 12. COSQ‘—% = ’q[«-;_ r?.‘.oit‘u) to "“/L, O‘f\c‘jle-

17. cosf=0 = X 18. sinf=-1 =y
%1’3 Jf @’ 3/\)_ O@
(o)
19. tan@=0 S(.ofﬂ.. 20. cosf=-1 =

D=1 ™ onlyy
O,= 2%
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PRACTICE More Exact Values

For each of the following state primary ratios for 1** column, and secondary ratios for 2™ column
21. Point P(—1,—3)on terminal arm in standard position ~ 22. Point Q(—4,0)on terminal arm in standard position
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PRACTICE Approximate Values

For each of the following
a.  Identify if x is the angle, or if X is the ratio (pay attention to the position it is in)
b. if the angle is given, find the approximate ratio using a calculator (can’t use special triangles on non-special angles)
if the ratio is given, find all possible approximate angles within first positive revolution.
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